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Aufgaben-Quickname: 2876

Aufgabe 1 .
Y = Quick:
2876

Multipliziere aus.

a) (d—c)(a+b) =d(a+b)—cla+b) = —ac+ ad — be + bd

b) (a —c)(a+b) = ala +b) — c(a+b) = a® + ab — ac — be

¢) (a—d)(a—0b) =ala—0b) —d(a—b) =a® —ab— ad + bd

d) (v+2)(v+w) =v(v+w) + 2(v+w) =02 +vw + vz + wz
e) (b+d)(a—b) =b(a—b)+d(a—"b)=ab+ad—b*—bd

f) (b—c)(a—b) =bla—0b) —cla—0b) =ab— ac—b>+ be

g) (z+2)(v+w)=zv+w)+ z(v+w) =vr+vz+wr+wz
h) (d+e)(a+0b) =d(a+0b)+e(a+b) = ad+ ae + bd + be

i) (y+w)(v—w)=yv—w)+wh—w)=vw+uvy —w?—wy
i) (c+a)(a —b) = c(a —b) + ala — b) = a® — ab + ac — be

Aufgabe 2 ,
P = Quick:
2876

Multipliziere aus wie im Beispiel a).

a) (z —w)(x+v)=z(x+v) —wx+v)=—vw+vz—wr+zz
b) (e+d)(a—c)=ela—c)+d(a—c)=ad+ae—cd— ce

¢) (a—b)(d+e)=ald+e)—bd+e)=ad+ ae —bd — be

d) (z—=7)(w+13) =2z(w+ 13) = 7T(w + 13) = wz — Tw + 13z — 91
e) (x—2)(w+y)=z(w+y) —z(w+y) =wr —wz+xy —yz
(v+z2)=2(v+2) —1l(v+2) =ve —1lv+ 22— 112
y+v)=z(y+v) —4y+v) =ver —4dv +xy — 4y

e+ 13) =c(e+ 13) —d(e + 13) = ce + 13¢ — de — 13d
z—13) =v(z —13) —w(z — 13) = vz — 13v —wz + 13w
(y+w)=2z@y+w)—18(y +w) =wz — 18w + yz — 18y
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Aufgabe 3 Quick:
2876 ’

Multipliziere aus wie im Beispiel a).
(v—w)(z4+z)=v(z+2z)—wz+2zx)=0vr+0v2—WT— W2
(d—46)(e+a) =d(e+a) —46(e + a) = ad — 46a + de — 46¢
(y+2)v+z)=ylv+a)+z+z)=vy+vz+zy+xz
(c+46)(d—e) =c(d—e) +46(d — e) = cd — ce + 46d — 46e

seeo e

(z4+v)(x—y)=z(zr—y)+v(r—y) =vex —vy+axz—yz
f) (y+2)(v—w)=ylv—w)+z(v—w)=vy+vz—wy —wz
g) (x+y)(z+v) =2(z+v) +y(z+v) =vx+vy+ 22+ Y2
h) (b—d)(a+e)=bla+e)—dla+e)=ab— ad+ be — de
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) (z4+0)(y—w) =2y —w) +v(y —w) = —vw + vy —wz + yz
i) (v+2)(w+y) =vw+y) +z(w+y) =vw+ vy +wr + xy

Aufgabe 4

Quick:
2876

Multipliziere aus wie im Beispiel a).

a) (v —25)(v+w) =v(v+w)— 25 +w) = v +vw — 250 — 25w
b) (e —d)(a+b) =e(a+0b) —d(a+b) = —ad + ae — bd + be
c) ( —y)(v+w)::E(v+w)—y(v+w):va:;fuy—l—wx—wy
d) (x—0v)(v—w)=2(v—w)—v{V—w)=—0+vwW+ VT — WL
e) (a —c)(a+0b)=ala+b)—cla+b) =a®+ab— ac — bc

f) (¢ —a)(a+b) = cla+b) —ala+b) = —a® — ab + ac + be

g) (a+7)(a—0b)=ala—b)+T7(a—b)=a?—ab+Ta—Tb

h) (y 4+ v)(v —27) = y(v — 27) +v(v — 27) = v2 — 2Tv + vy — 27y
i) (x+31)(v—w)=2(v—w)+3l(v—w) =vr+3lv—wr—3lw
)

)+ y)(v—w) =vw—w)+y(v—w) =v* —vw+ vy —wy

Viel Erfolg]!
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